
 

 

 

Worksheet 3 Memorandum – Measurement 

Mathematical Literacy – Grade 12 

 

1. a) 17 𝑚𝑚 ÷ 1000 = 0.017 𝑚 

 b) 10 458 𝑔 ÷ 1000 = 10.458 𝐾𝑔  10.458 𝐾𝑔 ÷ 1000 = 0.010458 𝑡𝑜𝑛𝑠 

 c) 3 ℎ𝑜𝑢𝑟𝑠 21 𝑚𝑖𝑛𝑢𝑡𝑒𝑠 = (3 × 60) + 21 𝑚𝑖𝑛𝑢𝑡𝑒𝑠 = 201 𝑚𝑖𝑛𝑢𝑡𝑒𝑠 

  201 min× 60 = 12 060 𝑠𝑒𝑐𝑜𝑛𝑑𝑠 

 d) 0.905 𝑘𝑚 × 1000 = 905 𝑚   905 𝑚 × 100 = 90 500 𝑐𝑚  

 e) 12 182 400 𝑠𝑒𝑐𝑜𝑛𝑑𝑠 ÷ 60 =  203 040 𝑚𝑖𝑛𝑢𝑡𝑒𝑠  

  203 040 ÷ 60 = 3 384 ℎ𝑜𝑢𝑟𝑠 

  3 384 ℎ𝑜𝑢𝑟𝑠 ÷ 24 = 141 𝑑𝑎𝑦𝑠 

 f) 2.5 𝑑𝑎𝑦𝑠 = 2.5 × 24 = 60 ℎ𝑜𝑢𝑟𝑠  60 ℎ𝑜𝑢𝑟𝑠 × 60 = 3 600 𝑚𝑖𝑛𝑢𝑡𝑒𝑠 

 

2. a) 20 𝑚𝑙 ÷ 5 𝑚𝑙 = 4 𝑡𝑒𝑎𝑠𝑝𝑜𝑜𝑛𝑠 𝑜𝑓 𝑏𝑎𝑘𝑖𝑛𝑔 𝑝𝑜𝑤𝑑𝑒𝑟 

 b) 120 𝑐𝑢𝑝𝑐𝑎𝑘𝑒𝑠 ÷  24 𝑐𝑢𝑝𝑐𝑎𝑘𝑒𝑠 = 5 𝑏𝑎𝑡𝑐ℎ𝑒𝑠 

 c) 5 × 3 𝑒𝑔𝑔𝑠 = 15 𝑒𝑔𝑔𝑠 𝑎𝑟𝑒 𝑛𝑒𝑒𝑑𝑒𝑑 𝑡𝑜 𝑚𝑎𝑘𝑒 120 𝑐𝑢𝑝𝑐𝑎𝑘𝑒𝑠 

 d) 5 × 80 𝑚𝑙 = 400 𝑚𝑙 𝑚𝑖𝑙𝑘 𝑛𝑒𝑒𝑑𝑒𝑑 𝑡𝑜 𝑚𝑎𝑘𝑒 120 𝑐𝑢𝑝𝑐𝑎𝑘𝑒𝑠 

 e) 400 𝑚𝑙 ÷ 1000 = 0.4𝑙 𝑚𝑖𝑙𝑘 

 f) 640𝑔 ÷ 185 𝑔 𝑝𝑒𝑟 𝑏𝑎𝑡𝑐ℎ = 3.46 

  ∴ 𝐷𝑎𝑛𝑖𝑒𝑙𝑙𝑒 𝑐𝑎𝑛 𝑚𝑎𝑘𝑒 3 𝑓𝑢𝑙𝑙 𝑏𝑎𝑡𝑐ℎ𝑒𝑠 𝑜𝑓 𝑐𝑢𝑝𝑐𝑎𝑘𝑒𝑠 𝑤𝑖𝑡ℎ 640𝑔 𝑜𝑓 𝑏𝑢𝑡𝑡𝑒𝑟 

 g) ℃ = (℉ − 32) ÷ 1.8 

  ℃ = (425 − 32) ÷ 1.8 = 218.33℃ 

 h) 912  ÷ 24 = 38 𝑏𝑎𝑡𝑐ℎ𝑒𝑠 𝑜𝑓 𝑐𝑢𝑝𝑐𝑎𝑘𝑒𝑠 

  38 × 115 𝑔 𝑖𝑐𝑖𝑛𝑔 𝑠𝑢𝑔𝑎𝑟 = 4 370 𝑔  4 370𝑔 ÷ 1000 = 4.37 𝐾𝑔 

  ∴ 4.37 𝐾𝑔 𝑖𝑐𝑖𝑛𝑔 𝑠𝑢𝑔𝑎𝑟 𝑛𝑒𝑒𝑑𝑒𝑑 𝑓𝑜𝑟 𝑎𝑙𝑙 𝑡ℎ𝑒 𝑐𝑢𝑝𝑐𝑎𝑘𝑒𝑠 

 i) 38 𝑏𝑎𝑡𝑐ℎ𝑒𝑠 × 𝑅 46 = 𝑅 1 748 𝑡𝑜 𝑚𝑎𝑘𝑒 912 𝑐𝑢𝑝𝑐𝑎𝑘𝑒𝑠 

 j) 𝑅 16 872 ÷ 912 = 𝑅 18.50 

 k) 𝑀𝑜𝑛𝑒𝑦 𝑑𝑜𝑛𝑎𝑡𝑒𝑑 𝑡𝑜 𝑐ℎ𝑎𝑟𝑖𝑡𝑦 = 𝑆𝑎𝑙𝑒𝑠 − (𝐶𝑜𝑠𝑡 𝑜𝑓 𝑡ℎ𝑒 𝑐𝑢𝑝𝑐𝑎𝑘𝑒𝑠 + 𝐶𝑜𝑠𝑡 𝑜𝑓 𝑡ℎ𝑒 𝑖𝑐𝑖𝑛𝑔) 

  𝑀𝑜𝑛𝑒𝑦 𝑑𝑜𝑛𝑎𝑡𝑒𝑑 𝑡𝑜 𝑐ℎ𝑎𝑟𝑖𝑡𝑦 = 𝑅 16 872 − (𝑅 1 748 + 𝑅 816) 

  𝑀𝑜𝑛𝑒𝑦 𝑑𝑜𝑛𝑎𝑡𝑒𝑑 𝑡𝑜 𝑐ℎ𝑎𝑟𝑖𝑡𝑦 = 𝑅 16 872 − 𝑅 2564 

  𝑀𝑜𝑛𝑒𝑦 𝑑𝑜𝑛𝑎𝑡𝑒𝑑 𝑡𝑜 𝑐ℎ𝑎𝑟𝑖𝑡𝑦 = 𝑅 14 308 
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3. a) 𝐴𝑟𝑒𝑎 = 𝑙 × 𝑏   b) 𝐴𝑟𝑒𝑎 𝑜𝑓 1 𝑡𝑖𝑙𝑒 = 550 𝑚𝑚 × 550 𝑚𝑚 

  𝐴 = 3𝑚 × 3𝑚    𝐴 = 302500 𝑚𝑚2 

  𝐴 = 9𝑚2    𝐶𝑜𝑛𝑣𝑒𝑟𝑡: 302500𝑚𝑚2  ÷ 10002 = 0.3025 𝑚2 

       # 𝑡𝑖𝑙𝑒𝑠 = 9𝑚2  ÷ 0.3025𝑚2 = 29.75 ≈ 30 𝑡𝑖𝑙𝑒𝑠 

 c) 𝑇𝑖𝑚𝑒 𝑓𝑜𝑟 𝑡𝑖𝑙𝑖𝑛𝑔 = 9𝑚2  ÷ 0.784𝑚2 = 11.48 

  11.48 = 11 ℎ𝑜𝑢𝑟𝑠 29 𝑚𝑖𝑛𝑢𝑡𝑒𝑠 

  

d) 30 𝑡𝑖𝑙𝑒𝑠 𝑛𝑒𝑒𝑑𝑒𝑑 + 10% = 33 tiles 

  33 𝑡𝑖𝑙𝑒𝑠 ÷ 𝑏𝑜𝑥 𝑜𝑓 6 = 5.5 𝑏𝑜𝑥𝑒𝑠 ≈ 6 𝑏𝑜𝑥𝑒𝑠 (𝑐𝑎𝑛𝑡 𝑏𝑢𝑦 𝑙𝑒𝑠𝑠 𝑡ℎ𝑎𝑛 𝑎 𝑓𝑢𝑙𝑙 𝑏𝑜𝑥) 

  𝑅 234 × 6 = 𝑅 1404 

 e) 𝐶𝑜𝑠𝑡 𝑜𝑓 𝑡𝑖𝑙𝑖𝑛𝑔 = 𝑇𝑖𝑙𝑒𝑠 + 𝐿𝑎𝑏𝑜𝑢𝑟 +  𝐺𝑟𝑜𝑢𝑡𝑖𝑛𝑔 + 𝐴𝑑ℎ𝑒𝑠𝑖𝑣𝑒 + 𝑆𝑝𝑎𝑐𝑒𝑟𝑠 

  𝐶𝑜𝑠𝑡 = 𝑅 1404 + (11.5 × 𝑅 130) + 𝑅 46.90 + ( 3 × 𝑅 69.90) + 𝑅 14.50 

  𝑇𝑜𝑡𝑎𝑙 𝐶𝑜𝑠𝑡 𝑜𝑓 𝑡𝑖𝑙𝑖𝑛𝑔 = 𝑅 3 170.10   𝑅 3 170.10 ÷ 9𝑚2 = 𝑅 352.23 

  𝐶𝑜𝑠𝑡 𝑝𝑒𝑟 𝑚2 = 𝑅 352.23 

 f) 8 × 0.3048 𝑚 = 2.44𝑚 

 g) 𝐴𝑟𝑒𝑎 𝑜𝑓 𝑡ℎ𝑒 𝑤𝑎𝑙𝑙 = 3 𝑚 × 2.44 𝑚 = 7.32𝑚2 Note all the walls are the same length. 

  𝑇𝑜𝑡𝑎𝑙 𝑎𝑟𝑒𝑎 𝑜𝑓 𝑎𝑙𝑙 4 𝑤𝑎𝑙𝑙𝑠 =  4(7.32𝑚2) = 𝟐𝟗. 𝟐𝟖𝒎𝟐  

 h) 2 𝑐𝑜𝑎𝑡𝑠 𝑜𝑓 𝑝𝑎𝑖𝑛𝑡 = 2 × 29.28 𝑚2 = 58.56𝑚2  

  58.56𝑚2  ÷ 10 = 5.86 𝑙𝑖𝑡𝑟𝑒𝑠 ∴ 𝐶𝑙𝑖𝑛𝑡 𝑚𝑢𝑠𝑡 𝑏𝑢𝑦 6𝑙 𝑜𝑓 𝑝𝑎𝑖𝑛𝑡 

 i) 1 × 1𝑙 +  2 × 2.5𝑙 𝑜𝑓 𝑝𝑎𝑖𝑛𝑡 𝑎𝑟𝑒 𝑛𝑒𝑒𝑑𝑒𝑑. 𝑅 149 +  𝑅 259 × 2 = 𝑅 667 

  The paint will cost Clint R 667 

 

4. a) 𝐴𝑟𝑒𝑎 𝐵1 = 𝑙 × 𝑏    𝐴𝑟𝑒𝑎 𝐵2 = 𝑙 × 𝑏  

  𝐴  𝐵1 = 4 𝑚 × 3 𝑚 = 12 𝑚2   𝐴  𝐵2 = 3.5 𝑚 × 3 𝑚 = 10.5 𝑚2 

  𝑇𝑜𝑡𝑎𝑙 𝑎𝑟𝑒𝑎 = 12 𝑚2 + 10.5 𝑚2 = 22.5𝑚2 

 b) 𝐵𝑒𝑑𝑟𝑜𝑜𝑚 1: 4 𝑚 𝑜𝑓 𝑐𝑎𝑟𝑝𝑒𝑡𝑖𝑛𝑔 𝑐𝑎𝑛 𝑏𝑒 𝑢𝑠𝑒𝑑 (3.66 𝑤𝑖𝑑𝑡ℎ ∴ 0.66 𝑚 𝑝𝑒𝑟 𝑚𝑒𝑡𝑒𝑟 𝑤𝑎𝑠𝑡𝑎𝑔𝑒) 

  𝐵𝑒𝑑𝑟𝑜𝑜𝑚 2: 3𝑚 𝑜𝑓 𝑐𝑎𝑟𝑝𝑒𝑡𝑖𝑛𝑔 𝑐𝑎𝑛 𝑏𝑒 𝑢𝑠𝑒𝑑 (3.66 𝑤𝑖𝑑𝑡ℎ ∴ 0.16 𝑚 𝑝𝑒𝑟 𝑚𝑒𝑡𝑒𝑟 𝑤𝑎𝑠𝑡𝑎𝑔𝑒) 

  𝐼𝑛 𝑡𝑜𝑡𝑎𝑙 7𝑚 𝑐𝑎𝑟𝑝𝑒𝑡𝑖𝑛𝑔 𝑚𝑢𝑠𝑡 𝑏𝑒 𝑝𝑢𝑟𝑐ℎ𝑎𝑠𝑒𝑑. 

 c) 𝑊𝑎𝑠𝑡𝑎𝑔𝑒 = 𝑊𝑎𝑠𝑡𝑎𝑔𝑒 𝐵1 + 𝑊𝑎𝑠𝑡𝑎𝑔𝑒 𝐵2 

  𝑊𝑎𝑠𝑡𝑎𝑔𝑒 = (0.66𝑚 × 4𝑚) + (0.16𝑚 × 3𝑚) = 3.12𝑚2 𝑖𝑠 𝑤𝑎𝑠𝑡𝑒𝑑 

 d) 𝐶𝑜𝑠𝑡 𝑜𝑓 𝑐𝑎𝑟𝑝𝑒𝑡𝑠 =  𝑈𝑛𝑑𝑒𝑟𝑙𝑎𝑦𝑚𝑒𝑛𝑡 +  𝐴𝑑ℎ𝑒𝑠𝑖𝑣𝑒 + 𝐶𝑎𝑟𝑝𝑒𝑡𝑠 +  𝐿𝑎𝑏𝑜𝑢𝑟 

  𝐶𝑜𝑠𝑡 𝑜𝑓 𝑐𝑎𝑟𝑝𝑒𝑡𝑖𝑛𝑔 = (𝑅75 × 7𝑚) + (𝑅95 × 2) + (𝑅890 × 7) + 𝑅 1200 

  𝐶𝑜𝑠𝑡 𝑜𝑓 𝑐𝑎𝑟𝑝𝑒𝑡𝑖𝑛𝑔 = 𝑅 525 + 𝑅 190 + 𝑅 6 230 + 𝑅 1 200 = 𝑹 𝟖 𝟏𝟒𝟓 
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5. a) Her BMI is 25 (read off the table.) A BMI of 25 indicates that a person is on the border  

of normal and overweight. She should be a little bit concerned about her weight and 

maybe try to lose 1 or 2 Kgs so that her BMI is below 25 and keep her BMI within the 

normal range.  

 b) Obese (BMI- 32) 

 c)  

Name Weight (Kg) Height (m) BMI  Weight Status 

Moe 66 1.65 24.24 Normal 

Curly 98.5 1.91 27 Overweight 

Larry 57 1.8  17.59 Underweight 

 

6. a) 748 𝐾𝑚 × 1000 = 748 000 𝑚 

 b) 𝑡 = 748 𝑘𝑚 ÷ 100 𝑘𝑚/ℎ = 7
12

25
 ≈ 7 ℎ𝑜𝑢𝑟𝑠 30 𝑚𝑖𝑛𝑢𝑡𝑒𝑠 

 c) 𝑇𝑟𝑎𝑣𝑒𝑙 𝑡𝑖𝑚𝑒 =  1 ℎ𝑜𝑢𝑟 15 min + 7 ℎ𝑜𝑢𝑟𝑠 30 𝑚𝑖𝑛𝑢𝑡𝑒𝑠 = 8 ℎ𝑜𝑢𝑟𝑠 45 𝑚𝑖𝑛𝑢𝑡𝑒𝑠 

  ∴ 𝑀𝑖𝑟𝑖𝑎𝑚 𝑚𝑢𝑠𝑡 𝑙𝑒𝑎𝑣𝑒 𝑎𝑡 7: 45 𝑖𝑓 𝑠ℎ𝑒 𝑤𝑎𝑛𝑡𝑠 𝑡𝑜 𝑎𝑟𝑟𝑖𝑣𝑒 𝑎𝑡 16: 30. 

 

7. a) 𝐶𝑜𝑠𝑡 1𝑑𝑎𝑦 & 𝑛𝑖𝑔ℎ𝑡 = 𝐴𝑐𝑐𝑜𝑚𝑜𝑑𝑎𝑡𝑖𝑜𝑛 + 𝑇𝑟𝑎𝑛𝑠𝑝𝑜𝑟𝑡 + 𝑀𝑒𝑎𝑙𝑠 + 𝐷𝑟𝑖𝑛𝑘𝑠 + 𝐴𝑡𝑡𝑟𝑎𝑐𝑡𝑖𝑜𝑛𝑠 

  Cost 1day&night=21.90+5.20+(3 ×4.80)+9.00+12.00= €62.50 

 b) R 8000 ÷14.48= € 552.49 

 c) € 552.49 ÷  € 62.50 =  8.84 𝑑𝑎𝑦𝑠 ∴ 𝑂𝑙𝑖𝑣𝑒𝑟 𝑐𝑎𝑛 𝑠𝑝𝑒𝑛𝑑 8 𝑓𝑢𝑙𝑙 𝑑𝑎𝑦𝑠 𝑖𝑛 𝑡ℎ𝑒 𝑁𝑒𝑡ℎ𝑒𝑟𝑙𝑎𝑛𝑑𝑠 

 d) € 282.50 ×  14.48 =  𝑅 4090.60 𝑡𝑜 𝑠𝑝𝑒𝑛𝑑 𝑜𝑛 𝑔𝑖𝑓𝑡𝑠. 

 e) €552.49 – (€62.50 ×  8) =  €52.49 

  €52.49 × 14.48 = 𝑅 760.06 

 f) €21.90 × 8 =  €175.20 

 

8. a) 18 ℎ 03𝑚 − 16 ℎ 42 𝑚 = 1 ℎ 21 𝑚 

 b) 18 ℎ 03 𝑚 –  16 𝑚 =  17 ℎ 47 𝑚 

 c) 17ℎ 47𝑚 − 10ℎ 5𝑚 = 7ℎ𝑜𝑢𝑟 42 𝑚𝑖𝑛𝑠 ∴ 𝐺𝑟𝑎𝑐𝑒 𝑠𝑝𝑒𝑛𝑡 7 ℎ𝑜𝑢𝑟𝑠 42 𝑚𝑖𝑛𝑢𝑡𝑒𝑠 𝑜𝑛 𝑡ℎ𝑒 𝑡𝑟𝑎𝑖𝑛 

 d) 7 ℎ𝑜𝑢𝑟𝑠 42 𝑚𝑖𝑛𝑢𝑡𝑒𝑠 × 32 𝑘𝑚 𝑝𝑒𝑟 ℎ𝑜𝑢𝑟 = 246.4 𝑘𝑚 

 e) Mrs Smith arrived at 16:17 and left the station at 18:03. 

  18 ℎ 03 𝑚 − 16 ℎ 17 𝑚 = 1ℎ 46 𝑚 

  ∴ 𝑀𝑟𝑠 𝑆𝑚𝑖𝑡ℎ 𝑤𝑎𝑖𝑡𝑒𝑑 𝑓𝑜𝑟 1 ℎ𝑜𝑢𝑟 𝑎𝑛𝑑 46 𝑚𝑖𝑛𝑢𝑡𝑒𝑠 
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